Final Study Guide 4
Math 120/121 Combination
1) Exponential growth and decay.
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, where 
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is the amount at time t, 
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 is the original amount, 
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 is the growth or decay constant (positive for growth, negative for decay), and 
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is time (units of time will vary, but be consistent within a problem)

Carbon 14 has a half life of 5600 years.  How old is a piece of charcoal with 25% of its original Carbon 14?
2) Recognize a polynomial function and find its degree.
Is 
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 a polynomial function?  If it is, what is its degree?

3) Factor a polynomial function.


Factor 
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4) Find zeros, multiplicities, end behavior and y intercept. Graph.


Graph 
[image: image8.wmf]()(1)(2)(4)

fxxxx

=--+


5) Simplify rational expressions.


Simplify:
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6) Multiply and divide rational expressions.


Multiply: 
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7) Add and subtract rational expressions.


Add:  
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8) Solve rational equations.


Solve for x: 
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9) Solve applications problems using rational equations.

Janet can paint a room in 2 hours.  Barbara can do the same job in 3 hours.  It would take Ellen 4 hours to paint the same room.  If they all start painting at the same time, how long would it take to paint the room?

10) Divide polynomials.


Divide:  
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11)  Find vertical and horizontal asymptotes of rational functions.


Find the vertical and horizontal asymptotes of  
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12)  Graph rational functions using transformations.
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13) Use the six step process to graph a rational function.

1) Factor the numerator and denominator.  Find domain. Cancel any common factors.

2)  Locate the x intercepts and the y intercept.

3)  Locate vertical asymptotes, if any.

4)  Locate horizontal or slant asymptotes, if any.  Find if and where the graph crosses the horizontal or slant asymptote.

5)  Find the domain regions where the graph is above and below the x axis.

6)  Graph

Graph 
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Answers:  
1) 11,198 years
2) yes, 4
3) 
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4) Zeros: -4 , 1, 2.  Graph crosses at each zero.  End behavior like 
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5) 
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6) 
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7) 
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8) 4
9) 
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10) 
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11) Vertical: 
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12) Shift basic 
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 function left 3 then up 2

13) See Graphing Rational Functions-Part 2  #8
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